TISEEFIERENREHER

5H12H %)
(FIABEEL 2% 1198H)

<EED> 2 % e ohsy 10:30 <G> 2 g TN TR IBE <EHD> 2 5 SR ARy 1215
w1 B FE A 11:00 w4 Bk FE A 12:00 w7 bk FERZ 13:00
5% 5 % E OB | W T waEs| A8 52 5 gd B OB | T s JEE 5% 5 % B OE BT | ReEs| R
1 | TTESRTIV 490 | Bl ERE 508 A 1 | AYT7AT 470 | # k| 151 B #
2 |HI RV EA 470 |78 fF| 132 7§ AL 2 |UUHETIX L 470 |8 K| 367 IR G
3| =TT N—] 470 | Ak 57/ /v Ak 1 | TTEVRANY T 490 |78 14| /MR 3 |7mkA 470 |78 k| 118| # 54
4 |=krYat 490 |85 A 302/ dE 2 R avLT 4 — 470 |FTERE 271 W A 4 |¥vbao 490 | ¥ Sk| 330/ A M
5 |y Tl 490 | %9 #h 335| K K RN O A 470 | R 7 88| /A H 5 |V Rr—Tp— 470 | AR | 212| b K
6 |~/LiRy~bA 470 |4 H 305| 4= H 4 | AAfaggo— 470 |45 |  315| # & 6 |\RTEBEAHYXT 490 | A 275 k2 F
7T |Fav 490 | R & 102| A H 5 | JA—2HRTIAR 470 | # K 103 & (BRVEAyAct 490 |25 | 355 K 1
8 |BdLEeX 470 | BE BF | 247 /NRRRE 6 | a v LB 490 |78 FE|  126| K K 8 | MUF~AEA 470 | AR 51|/
9 |TAT L= 490 | B H| 348 #k T |R—=r Y 490 |4 M 180| k& JF 9 | T IHAY— 490 | PE fF| 256| 6 &
8 | ILAFBA 470 | BB A | 216| KR
ShEED> 2 % e Ay 10:30 <G> 2 g e sy 1135 GHiED> 2 5 SR Ay 1235
w0 Bk FEAEFZ 11:20 %5 gk F A 12:20 %8 ik FE B 13:20
% 5 4 EH OB | T weEs| R 5 4 B OE| BT | ReEs | 5% 5 4 B OB T s SR
1 (R Z— 470 | HE B 320| % M
1 XFF 490 | # K| 309| H A 2 |IRTEBAFTHEA 470 | BB A| 217\ E 1 |\ Ty 470 | R B 22| A H
2 |V EI 470 | # k| 148| & E 3 | TRT 470 | B 38| & A 2 |VxATFAh 490 |39 M| 169 F Lk
3 BRI T v 470 |45 | 250 f& S 4 |V AI—H 470 [PPSR 167 4 HF 3|y RIAF 490 |JE B 362| B T
4 |\ AIIK ) 470 | PE k| 160 k& 5 |TEYRR—U» 470 | # B 221/ db NV Ly ZaVE S 490 |RTERE| 270| WK A
5 | F v 470 | B 21| & & 6 |HRITEATT—D 470 |8 K 284 | ¥ H 5 |au~o4— 490 | FF|  336| K K
6 |V EAAF—T¥ 490 |FTEPE|  143] & 7 | FA T —R 470 |9 | 231 K G 6 |FLTy—R—IL 470 |4 W|  230| & M
7 | AFaa 470 |BE A 183| A H 8 | AAYTENT 490 (% | 370 f B T\ RTEAT Y2 470 |8 K| 272| 4 3
8 |7TT7EURIVPE 470 | ¥E % 16| /M E 9 |V FET 470 | R &5 83| I A 8 | TUA 470 | P F 40| 78 54
9 |\ AVTTTH 470 | R o 74| KT 9 | ATVT A= 470 | B | 192 K
<R 2 5 e Ay 1055 <G> 2 % e Ay 1155 <G> 2 e SR ARy 1255
&3 Bk FEAEREZ 11:40 o6 Bk FEAERFZ 12:40 &9 Bk R 13:40
& 5 4 o OR| BT | WS B0 & 5 Z4 o OE | BT | W | P80 & b5 4 oo | BT | Wm0
1 | TI9IRA 490 |k k| 260 F M 1 |[aga gy 490 | 7 121 ' H
2 | HIRaRT a7 490 | f 81| #k IR Yy N 490 |5 1L 87| & 2 NJ—=Tv7 470 |85 K| 243 R B
3 | Rkwyaxy 490 |45 #h| 236 K Lk 2 |(=Fzax=. V)L 470 | % 104] $5 K 3 |auanURy 470 | T EHE| 128 /HKE
4 Ao 490 |78 fF 125| K X 3 \BEhTIA— 470 | & K 203| # A 4 |\UANVRYY— 470 | 79 R 366| K 1
5 YR YIRY 470 | P8 BE| 134| 78 AL 4 | TIIFFH— 470 | WE fF| 259| T 8L 5 |V Am/N—] 490 | # k| 152|/ db
6 |V A/LE— 470 | R | 170 /KRB 5 |TTEVRANFIF 470 | # k 13| /IR 6 |TU—ULH— 490 |PTEREC|) 374) A&
7 |TRIRRA 490 | &% K| 204 H R 6 | T AR 470 | BB K K T VAR — 490 | g A 377\ R JE
8 |V YIS 470 |FERE| 154 & JF T |agand ) 490 |78 | 122 F H 8 |V ATTHA 490 |45 | 146| B L
8 |XH /T YR 470 | 5% 89| 4 H 9 |\ TFrFxr 490 | B EE|  318| & K
9 | HYZTY— 470 | AR | 371 A H




TISEEFIERENREHER

5H12H %)
(FIABEEL 2% 1198H)

SR> 2 5 SR oy 13115 <D 2 5 s Ay 1415
w10 Bk FE AL 14:00 w13 Sk FE A 15:00
5% 5 % E OB | T waEs| A8 52 5 gd B OB T s S
L |\ TyYUFRA 470 | % 165|°F H
2 |e=DZ 470 |PrERE| 251 # K
1 |~ EBoAF R 490 |76 #E|  301| 7E 8L SN Nydy sV AV EXy/ 490 | # K| 224| 4 S
2 |AUSHATT 490 |8 % 375| K K 4 | T=FH e 490 | E % 1 M B
3 T 4—HRTIAR 490 | $5 K| 220| A 5 |77 V—x 470 | K HE| 252 K
4 | FXY= 470 |34 207 6 & 6 |Yh ) LT — 490 | 1 137| Ak
5 |7 AL 470 | R A 59| /bR TR aRXT )k 490 | W | 312| K K
6 |blLakr 470 |PTEBEG|  246) B A 8 |V ATATILR 470 |35 wh| 147k HF
T AvTF— 470 | ¥ Kk 45| &
8 | TTrTH 470 | R % 19| A H
<PEHD> 2 % e Ay 1335 <G> 2 s SR AREy 1435
w11 Bk FEAERFZ 14:20 14 Bk FE A 15:20
% 55 4 H OB | T weEs| R 5 4 B OE| BT | ReEs |
1 [P fYe— 470 | P fF 153| #& F
2 |[Yx=A//BEeX 470 |35 Hh 156| % H
3 | ZURENAT 470 | & B 109| & A& 1 |~zk 490 | &5 297| K 1
1 |V BAIR 470 |FTERE|  265] K K 2 |\TZVINaKT 490 |F[EREL| 257 P &
5 |xkEITY 490 | & K 95| & B 3 | TIURAH—H A 490 | B 107 B B
6 | AT 470 | A 150 2 H 4 |JURHZ )L E—]K 490 |7 ff | 112) # EL
7 | =ILIRL N L 490 |4 H| 304 & H 5 | 70— /\T— 470 |4 M| 2614 M
8 |FaTTAARK— 190 | A 98| A I 6 |ZhTFTUY 490 |8 K| 130 &
7 |LAary 470 | R B 358| /A H
8 | TFHLARY 470 | A k| 234K E
SHEED> 2 5 SRR ARy 1355
%12 Bk R A 14:40
& 5 4 o OE| BT | WS B0
L |[ZURE) )T —)b 490 | VH | 111 78 34
2 |YHINIRTH 490 | BF| 213| B W
3 | AI—Lwhk 470 | PEORF| 191) K 4B
4 | TIARYE YV 2— 470 |35 M| 106| H A
5 | TTTY— 490 |8 A| 101 /b e
6 |TTESNRTAA 470 | R 3| W R
T ATV 470 | R | 319| A H
8 |TTESRRY 490 | & & 15| /MR




